Problem-7  

(  Hypotheses

           Ho: (1=(2=(3

                 Ha: atleast one of the means is different

          where (i is the mean of the ith region for i=1,2 & 3.

(  Conclusion

 Since the P-value given in the MINITAB output is very small (P=0.00)

we reject Ho and conclude that there is a significant difference in the mean    

quality rating among the regions  

( Pairwise Comparisons

 Since the hypotheses of equal mean ratings is rejected, we should use pairwise   

 Comparison procedures to identify the pair of mean which are significantly different. The Tukey pairwise comparison procedure shows us that the confidence intervals for the mean difference between any two regions does not include 0. Thus, the difference between all pairs of means are significant.

(  Assumptions

The assumptions in analysis of variance says that the errors are independently  & normally distributed with constant variance. 

(  Validity of Assumptions

 The Boxplots  & the normal probability plot of residuals tells us that the assumption of constant variance & normality are valid. But we do not have enough information to comment on the validity of the independence assumption.

